BRI JERED 2019/05/24 08:33

SOER
FEERR : 194E58228 (k) SHEAE 9TWRUT JBAGRE : RyNIE
ffAI1-X: K P Q BEUR—IL BEIEh . 14488
KING DEE®D®® B # A
Avk . PARx2 PRINCE Q@3@®G®® 4% # A
QUEEN ©OR@G@® Y27 0 A HDCP_LPE :
SnE # AN BE:36 43632736
45T SINEL KING| PRINCE | QUEEN GRoss| HDCP| NET {E= [1:2 v Shin&E4 KING | PRINCE| QUEEN GRoss| HDCP| NET e [[[:ivd &4 KING | PRINCE | QUEEN GrRoss| HDCP| NET B
28 | ;u] B FPiB 44] 42 86| 15.6 |70.4 51 ”8B RA 42 43 85| 10.8 |74.2 101 - = & 46 49 95| 19.2|75.8
2 | TE 5 39 46 85| 14.4 |70.6 52 kA BEZE 46 45 91| 16.8]74.2 102 | KK fE= 46 42 88| 12.0 |76.0
3 B BE— 39 40 79| 8.4/70.6 53 Elll BR5B 38| 41 79| 4.8(74.2 103 | & HIE 54| 52 106/ 30.0 |76.0
4 it B 44 39 83| 12.0[71.0 54 #PEE E=R 48 55 103| 28.8 |74.2 104 | gl B 49| 51 100| 24.0 |76.0
5 @A T 37| 39 76| 4.871.2 55 |HAK ¥ 44| 41 85| 10.8 |74.2 105 | 5REF BH— 42| 46 88| 12.0/76.0
6 —=E ¥z 39 43 82| 10.8[71.2 56 | pRE E5h 40| 45 85| 10.8 |74.2 106 B A& 54| 51 105/ 28.8 [76.2
7 | K7E B 43| 44 87| 15.6|71.4 57 55 —& 48| 43 91| 16.8|74.2 107 | 7% —5 46| 47 93| 16.8]76.2
8 |[iEE IBA 43| 44 87| 15.6 |71.4 58 Hiif jaa 50| 47 97| 22.8|74.2 108 XM FH4 45 48 93| 16.8(76.2
9 IUFIh 40 40 80| 84[71.6 59 )l == 48 43 91| 16.8 [74.2 109 | FRE #AI 39 42 81 4.8/[76.2
10 |JIIME &t 54| 50 104] 32.4 [71.6 60 1M &2 46| 44 90| 15.6 | 74.4 110 | X5 & 45| 42 87| 10.8(76.2
11 A7 6] 45 40 85| 13.2 |71.8 61 JEBER (&5 40| 44 84| 9.6 |74.4 111 ||UH i 46| 47 93| 16.8 |76.2
12 |3EH 2 43| 42 85| 13.2 |71.8 62 Il #)8B 45 39 84| 9.6|74.4 112 | K— 47| 46 93| 16.8 |76.2
13 | H L k8T 38| 41 79| 7.2]71.8 63 WA —= 44 46 90| 15.6 |74.4 113 | FEZ F— 41 40 81 4.8/(76.2
14 (/A B 44 40 84| 12.0[72.0 64 (RIS 42| 48 90| 15.6 |74.4 114 |{E@ & 47| 52 99| 22.8(76.2
15 /M| BB— 48 47 95| 22.8|72.2 65 | M (&t 42 42 84| 9.6|74.4 115 | FFIL 3Lk 53 51 104| 27.6 |76.4
16 FHEF &EIT 45 44 89| 16.8 [72.2 66 —= i 44| 45 89| 14.4 |74.6 116 | I =8A 50/ 54 104] 27.6 |76.4
17 §HE 58| 39| 43 82| 9.6/72.4 67 =BiF HE— 46 43 89| 14.4 |74.6 117 | T £ 47| 45 92| 156 |76.4
18 3K X 44 44 88| 15.6 |72.4 68 &k 7T 42| 47 89| 14.4 [74.6 118 | [l EH 41| 45 86| 9.6|76.4
19 BA# 8K 38| 44 82| 9.6/72.4 69 |HlE IEZ 43 40 83| 84|74.6 119 | Bt 5B 43| 43 86| 9.676.4
20 [€F BE— 37 37 74| 1.2]72.8|"2/0& 70 | RSP 5588 40 43 83| 8.4(74.6 120 BRIl Rk 47 51 o8| 216 |76.4
21 &R X 47| 45 92| 19.2(72.8 71 A 18 45| 49 94| 19.274.8 121 | KEE =X 45/ 41 86| 9.676.4
22 |5k =& 47| 50 97| 24.0 |73.0 72 [{HE {55 41 41 82| 7.2|74.8 122 |A4R ¥— 48| 43 91| 14.4 |76.6
23 | )|y BBZE 45| 52 97| 24.0(73.0 73 |EEH 558 49| 51 100| 25.2|74.8 123 557K 571 44| 53 97| 204 |76.6
24 AR EXEP 51| 46 97| 24.0 [73.0 74 | @i &= 49 45 94| 19.2|74.8 124 2 BF 53] 50 103] 26.4 | 76.6
25 S & 42| 43 85| 12.0/73.0 75 | FaRE 49| 50 99| 24.0 |75.0 125 P = 43 48 91| 14.4 |76.6
26 |1 H— 47| 44 91| 18.0|73.0 76 B =EB 49| 56 105| 30.0 |75.0 126 | H ik BAEE 45 46 91| 14.4|76.6
27 |pIEE B 44| 47 91| 18.0/73.0 77 |iBH IEX 38 43 81| 6.0/75.0 127 A — =7~ 43| 54 97| 20.4 |76.6
28 ;A Xia 48| 49 97| 24.0(73.0 78 (B8 IS 43| 50 93| 18.0 |75.0 128 |}EK 5k 43| 42 85 8.4/76.6
29 ||l|IEf E=E 43 41 84| 10.8]73.2 79 | KIE I 50 49 99| 24.0 |75.0 129 |t IE& 49| 48 97| 20.4|76.6
30 B2 &=iff 44 40 84| 10.8[73.2 80 |[AH — 45 48 93| 18.0 | 75.0 130 KiE 5% 50/ 59 109| 32.4 | 76.6
31 =i IE= 46 49 95| 21.6 |73.4 81 Kk ¥51 55 49 104| 28.8|75.2 131 |1+ H E 56| 46 102] 25.2|76.8
32 [thE @B 43 46 89| 15.6 |73.4 82 15K RBE 47| 45 92| 16.8 |75.2 132 |hE B3 43| 46 89| 12.0|77.0
33 |i{&H B 50, 51 101| 27.6 |73.4 83 [su];N #E— 45| 41 86| 10.8 |75.2 133 kO — 421 41 83| 6.0/77.0
34 |7KiE 1Bk 44| 44 88| 14.4 |73.6 84 IR =— 41| 45 86| 10.8]75.2 134 {EfA & 46| 49 95| 18.0 |77.0
35 ith fg— 40 42 82| 84/73.6 85 | Kf Kl 41| 45 86| 10.8 75.2 135 P ¢ 47 54 101] 24.0 [77.0
36 |HARE SRIREB 39 43 82| 84[73.6 86 |1BA BE— 53 51 104| 28.875.2 136 | KE¥ 1 46 49 95| 18.0 [77.0
37 |[KTF = 40 42 82 84/73.6 87 [ H==E 52| 46 98] 22.8|75.2 137 | HE E15F 46 42 88| 10.8(77.2
38 | KIlLU &4 40 42 82| 84/73.6 88 | P4& HEIQEP 44| 41 85| 9.6|75.4 138 —= IEF 51| 49 100| 22.877.2
39 |5hAMH IE— 40| 42 82| 8473.6 89 Al &= 47| 44 91| 15.6 |75.4 139 |IEK LF 53 47 100| 22.877.2
40 | A% ti# 45 42 87| 13.2(73.8 90 |JIIB 3tX 45| 45 90| 14.4 |75.6 140 |k B {E— 48| 46 94| 16.8(77.2
41 |[Th3E 57 50/ 49 99 25.2|73.8 91 H &% 50| 46 96| 20.4 |75.6 141 | £7% — B 47 47 94| 16.8(77.2
42 Ei§ 8k 40/ 41 81| 7.2/73.8 92 |§gith =& 43 41 84| 8475.6 142 EH B 48| 46 94| 168 77.2
43 JKEF IEZ 44 49 93] 19.2/73.8 93 HH IEA 39 45 84| 84|75.6 143 |{HEK FE 48| 46 94 16.877.2
44 |—= HB— 42 44 86| 12.0 [74.0 94 ¥k HF 50| 52 102| 26.4 |75.6 144 \FA B 49| 51 100| 22.8(77.2
45 | KH) BE 42| 44 86| 12.0|74.0 95 JHZB YIE 51| 45 96| 20.4 |75.6 145 | IUA EE 55/ 57 112] 34.8[77.2
46 |FEH &SR 51 47 98| 24.0 |74.0 9% | 5= &l 40 44 84| 8.4/75.6 146 |IUiE BT 54 52 106/ 28.877.2
47 \aLL &8 41| 45 86| 12.0|74.0 97 H 18§ 56| 51 107| 31.2|75.8 147 E5 B A 50 49 99| 21.6 |77.4
48 =il BT 47| 39 86| 12.0 |74.0 98 | = lE % 45/ 50 95| 19.2 |75.8 148 | #K THEB 45 42 87| 9677.4
49 |H# INE 42| 43 85 10.8|74.2 99 | K 8= 41| 42 83| 7.2/75.8 149 | 1B #— 49| 50 99| 216 |77.4
50 |[/\EF (B 47 38 85| 10.8 |74.2 100 |} TE—EP 46 49 95| 19.2|75.8 150 | EH FZ 52| 47 99| 216 |77.4

1/2




[[:Livd SNELZ KING | PRINCE | QUEEN GROSS | HDCP| NET = [[:Yiva &4 KING | PRINCE| QUEEN GROSS| HDCP| NET (e AL SnE% KING | PRINCE | QUEEN GRoss | HDCP| NET {F=
151 ;] BF ¥ 50 49 99| 21.6 |77.4 201 | 5 HEFH 49| 47 96| 16.8]79.2 251 | = HF 57| 58 115] 31.2 [83.8
152 | HF F {7&E 44| 48 92| 14.4|77.6 202 | 38X {EXEB 54 48 102| 22.8[79.2 252 | FRH 5 51| 55 106| 21.6 |84.4
153 B§H E£— 42 38 80 24|77.6 203 EH =% 55| 47 102| 22.8179.2 253 |KEF thE 61| 63 124| 34.8 |89.2
154 il iBE&E 49| 49 98| 20.4(77.6 204 AR S 52 50 102| 22.8[79.2 254 AKLL K 57| 69 126| 34.8 [91.2
155 1Bk FF 53| 51 104| 26.4 |77.6 205 |pJEp BRZE 53 49 102| 22.8[79.2 255 | KA F— 80| 68 148 36.0 [112.0
156 | #EH EX5) 47 45 92| 14.4 |77.6 206 =H E£— 50/ 58 108] 28.8(79.2

157 it B 49 49 98] 20.477.6 207 |A* FHBA 54| 53 107| 27.6 |79.4

158 | IUA Ef— 53| 51 104| 26.4 |77.6 208 |3t AF 52| 55 107| 27.6|79.4

159 | A+ —E 48 44 92| 14.4 |77.6 209 |{AME B 57| 50 107| 27.6 | 79.4

160 | LLIf A 41 50 91| 13.2(77.8 210 P £18 52| 49 101] 21.6 |79.4

161 | 2B LY 43| 48 91| 13.2|77.8 211 |5 BF 48| 47 95| 15.6 |79.4

162 jthH FI1E 50/ 52 102| 24.0 [78.0 212 Rk 3R— 46 49 95| 15.6 |79.4

163 R Ik 49 47 96| 18.0 |78.0 213 |itH BA 47| 48 95| 15.6 |79.4

164 | il {BAXER 43| 53 96| 18.0|78.0 214 |ElG PR 46| 55 101 21.6 |79.4

165 | {ELQK B— 44| 46 90| 12.0/78.0 215 By BH— 53 54 107| 27.6 |79.4

166 XF BE 47| 55 102| 24.0 [78.0 216 {E/4 K (&5 43 46 89| 9.6/79.4

167 AR F 50| 52 102] 24.0|78.0 217 RE = 49| 51 100] 20.4[79.6

168 | H L FERZ 51 44 95| 16.8 [78.2 218| EA 1IE 54| 46 100| 20.4 |79.6

169 HBth FE 49| 52 101] 22.8 |78.2 219 EK B 52 53 105] 25.2 |79.8

170 | FH= B 45| 50 95| 16.8[78.2 220 | K&y &8 47| 51 98] 18.0[80.0

171 H E 6= 50 45 95| 16.8|78.2 221 X |2 50 48 o8| 18.0|80.0

172 B #BR 52| 55 107| 28.8|78.2 222| KA E— 55 54 109| 28.880.2

173 & XA 47 47 94| 15.6 |78.4 223 557K ik 47 50 97| 16.8 |80.2

174 |{E)1| & 51| 49 100| 21.6 | 78.4 224 | FREE XHP 49| 48 97| 16.8/80.2

175 AR —= 40 54 94| 15.6 |78.4 225 |5t Kig 51| 52 103| 22.8 |80.2

176 | AR K 48| 46 94| 15.6 |78.4 226 FH i&E— 47| 50 97| 16.8 80.2

177 [ F[&E 45 43 88| 9.6|78.4 227 | IUA EiEF 50 58 108| 27.6 |80.4

178 | A7 {EF 43 51 94| 15.6 |78.4 228 | kM Mg 58| 56 114] 33.6 |80.4

179 | 5[ Fuit 50, 50 100| 21.6 |78.4 229 | FHi G 53| 55 108| 27.6 |80.4

180 jJ%F JEAN 49| 51 100| 21.6 |78.4 230 R —HBB 49| 57 106| 25.2 |80.8

181 X8 BF 52| 48 100| 21.6 | 78.4 231 A EBF 54| 57 111] 30.0[81.0

182 | 1t EF 56| 50 106| 27.6 |78.4 232 fFH E— 51| 60 111/ 30.0 |81.0

183 |HEK #F 52| 60 112| 33.6 |78.4 233 | isc iEtE 57| 54 111] 30.0 |81.0

184 KN BF 50/ 55 105| 26.4 |78.6 234 | R BRIRF 58| 58 116| 34.8 81.2

185 | =3R [5Rl 48| 51 99| 20.4 |78.6 235 583¢ B 47 50 97| 15.6 |81.4

186 |HEA 5 55| 50 105| 26.4 | 78.6 236 ;B &5t 56| 53 109] 27.6 [81.4

187 ;i i 52| 46 o8| 19.2|78.8 237 | KAR BH 50| 46 06| 14.4 |81.6

188 | FPEP= I5E 51| 53 104] 25.278.8 238 | g hKF 50| 52 102| 20.4 [81.6

189 |1+ E FiF 48| 50 o8| 19.278.8 239 |#RH 51— 59| 54 113] 31.2|81.8

190 | 7KA B 48| 44 92| 13.2/78.8 240 R 28 55| 50 105| 22.882.2

191 AR B2 48| 50 o8| 19.2|78.8 2418/ L 54 56 110| 27.6 |82.4

192 )10 &i& 45 47 92| 13.2/78.8 242 (RSN AN 52| 51 103] 204 |82.6

193 ;B XF 46 40 86| 7.2/78.8 243 | §8K EXXEB 55| 59 114] 31.2|82.8

194 HBH & 52| 46 98| 19.2/78.8 244 | 7K #E 62| 46 108] 25.2|82.8

195 ;B Bl 52| 51 103| 24.0 |79.0 245 [EH kB 60/ 59 119] 36.0 |83.0

196 j0[¥F ERK— 46 45 91| 12.0/79.0 246 145k 12 58| 61 119] 36.0 |83.0

197 A = 49 48 97| 18.0/79.0 247 i 5% 48| 59 107| 24.0 |83.0

198 #Rhd 1E4E 44| 59 103| 24.0 [79.0 248 [ElL A 59| 57 116/ 32.4 |83.6

199 | =iflj PEi#t 53 49 102| 22.8(79.2 249 | (&5 42| 62 104| 20.4 [83.6

200 EH Ba 47| 43 90| 10.8[79.2 250| 57 & 55| 55 110| 26.4 [83.6

2/2




